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Mull Hypothesis: SERO1 has a unit root
Exogenous: Mone
Lag Length: 0 (Automatic - based on SIC, maxlag=2)

t-Statistic Frob.*

Augmented Dickey-Fuller test statistic -0.627474 0.4383
Test critical values: 1% level -2 632688
5% lavel -1.950687
10% level -1.611059

*MacKinnon (1996) one-sided p-values.

Augmented Dickey-Fuller Test Equation
Dependent Variable: D{SERO1)

Method: Least Squares

Date: 01/06/25 Time: 21:03

Sample (adjusted): 1981 2015

Included observations: 35 after adjustments
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t Xt st sst at bt prevt

jan 12 12 12,00 12,00 0,00

fev 16 14 13,00 15,00 1,00 | 12,00
mars 22 18 15,50 20,50 2,50 | 16,00
avril 30 24 19,75 28,25 4,25 | 23,00
mai 40 32 25,88 38,13 6,13 | 32,50
juin 40 36 30,94 41,06 5,06 | 44,25
juil 50 43 36,97 49,03 6,03 | 46,13
aout 50 46,5 41,73 51,27 4,77 | 55,06
spet 56,03
oct 60,80
nov 65,56

St=0.5x (16+ 12)= 14

SSt=0.5x (14+12)=13
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b= (14 — 13) = 1,00
0.5

at=2x14-13=15

Prevt=a,;+b,_=12+0=12 05

0.5 Xpn = g, + J2c7,,
Xg+1=51,27+4,77 =56,03
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